
• Question 1
1 out of 1 points

COPD  is not reversible while asthma airflow limitations are largely reversible

Selected  
Answer: True

Answers:

• Question 2

True

Fals
e

1 out of 1 points
How would you interpret this EKG?

Selected
Answer: Second degree heart

block Mobitz Type 2

Answers:
STEMI

Second degree 
heart block Mobitz 
Type 2

Atrial fibrillation

• Question 3

Ventricular tachycardia

1 out of 1 points
The leading cause of bacterial pneumonia is                                       which is gram                  .


